date

name

Batch 503956bt Solving Linear Equations Version 1
Solve for x.
1) z= (2) z = 3)z= (4) z =
z+6=38 r—5=3 13=2+6 r—-04=91
(5) z = (6) x = (7) z = (8) x =
122 =72 T _ _3 —21=—-Tzx 3l =—-7.44
8
(9) z = (10) z = (11) z = (12) z =
3z —6=12 5—8:1 —-10=2— 62 3.4x — 3.3 = —20.64
2
(13) x = (14) z = (15) x = (16) z =
Sz =4x+9 8z = —4x + 12 —6x = 5z — 33 9.5 = 3.3z + 8.8
17 x = (18) z = (19) x = (20) z =

6z +9 =5z + 18 204+ 7= -4z + 31 3r—1=5x—-15 9.2x — 8.09 = —8.7x — 109.56



name

date

Batch 505956bf

Solve for x.
1) z=

r+2=-5
(5) z =

6r = —24
(9) z =

9r — 9 =45
(13) z =

9r =8x — 2
17z =

11242 =10z 46

Solving Linear Equations

(2) x = (3) =
r—2=-—11 14=x2+5
(6) z = (7) z =
EZ_Q 5=5x
7
(10) z = (1) z =
T 22 =2 +4x
2 45=4
10+
(14) z = (15) = =
—Tr=-92c+14 -9z =Tz + 64
(18) x = (19) z =

—7x 4+ 9= -9z + 23 6r—9=8x+3

Version 2
(4) z =
r—3.4=-28
(8) z =
0.1z = 0.08
(12) z =

1.82 +83=5.6

(16) z =

4.3x =11z +8

(20) z =

—2z — 9.57 = —4.92 — 13.92



name

Batch 505956bf

Solve for x.

1)z =

z+10=1

122 = —12

9z +6 =6

(13) z =

dr=3x+8

17z =

6r—4=5r+4

z—8=0

(10) z =

(14) z =

—3r = —-8x+25

(18) z =

6x +7=—9x + 67

Solving Linear Equations

date

11l=z+2

15 = -3z

(1) z =

2=8+2z

(15) z =

20 = Tx + 15

(19) x =

—9r+2=5xr+44

Version 3
(4) z =
r—24=23.9
(8) z =
6.9x = —31.74
(12) z =

1.82 — 0.6 = 13.62

(16) z =

1.6z = 5.6 + 17.2

(20) z =

—x —837=—44x —41.35



date

name

Batch 503956bt Solving Linear Equations Version 4
Solve for x.
1) z= (2) z = 3)z= 4) z =

r+4=9 rT—5=4 —2=z+2 z——0.8= -89
(5) z = (6) x = (7) z = (8) x =

5T = 35 T _s —21=Tx —7.3z = 8.76
8

(9) z = (10) z = (11) z = (12) z =

dr+7=3 T ey 48 =6 — 62 3.62 + 6 = —28.2

12
(13) x = (14) z = (15) x = (16) z =
11z =102 + 7 —2r = —5x + 18 Tx =92 —4 0.7z = 8.9z — 54.94

17) x= (18) z = (19) x = (20) z =

11246 =10z + 5 —6z4+8= -9z 42 Tr+4+5=9x +21 2.7x —9.43 = -3.52 + 5.45



name

Batch 505956bf

Solve for x.

1)z =

r+9=3

3r =27

(9) z =

10x +9 =39

(13) z =

9Qr =8x + 7

17z =

Tx+3=6x+5

Solving Linear Equations

(2) z =
z—3=0
(6) x =
T
S
(10) z =
%—9:-4
(14) z =
9r =2z +7
(18) z =

—6r —8=—-9x — 17

date

—45 =9z

(1) z =

—22=2—-6x

(15) z =

Tr =92+ 8

(19) x =

20 — 8 =8x — 26

Version 5

(8) x =

9.5z = —84.55

(12) z =

2.6x — 5.7 = —16.36

(16) z =

—0.42 = 9.3z + 36.86

(20) z =

1.22 +9.89 = 4.7z + 35.79



name

date

Batch 505956bf

Solve for x.

1) z=

r+5=8

9z = 27

(9) z =

6 +2 =44

(13) z =

Sr=4x+1

17z =

11z —2 =10z -9

Solving Linear Equations Version 6
@) 7= (3) = (4) 2 =
r—4=-8 d=ux+2 r—25=-57
(6) 2= (7)o = (8) 2 =
T_ 5§ —72= -8z 3.2z = —30.08
3
(10) z = (11) z = (12) z =
% +7=3 —27=—-6—-"Tx —8.7x + 3.4 = —60.98
(14) x = (15) z = (16) x =
6x = —4x — 40 —6x =9z — 135 —8x = —0.9x + 19.17
(18) x = (19) z = (20) x =

3r+4=—-bxr+4

6r+3=8x+1

—6.22 — 6.89 = 6.9z — 43.57



date

name

Batch 505956bf SOlVng Llnear EquathHS Version 7
Solve for x.
1) z= (2) z = 3)z= 4) z =

r+4=0 r—T7=-11 —-9=2-6 r——96=-195
(5) & = (6) z = (7) x = (8) x =

S5x = 25 T _ _9 10 = -2z —0.92 = —6.12

6
(9) z = (10) z = (11) =z = (12) z =
122 — 8 = —56 T, g —6=—6+9z 620 — 7.2 = —41.3
5
(13) z = (14) x = (15) z = (16) x =
S5r=4x — 6 dr = —4x — 64 —Tx =3z — 80 1.3z = —0.1z + 11.62

(17) z = (18) x = (19) z = (20) x =

122 -5 =11z -3 —4xr+1= -9+ 16 dr —6 =Tz —21 6.2xr — 0.8 =45z 4+ 11.1



name

date

Batch 505956bf

Solve for x.

1)z =

r+7=1

9z = —63

(13) z =

S5r=4x+5

17 xz=

8qr+4=T7r—5

Solving Linear Equations

(2) z =

r—8=-—17
(6) x =

?:8

(10) z =

§—1=—9
(14) z =

or =3 —6
(18) z =

dr+3=—-7Tx+3

(3) =
—S5=z+2
(7) x =
—24 = —6x
(1) z =
—47=1-— 8«
(15) z =
—8x =Txr — 105
(19) x =

—4r—3=Tx+74

Version 8
(4) z =
r——-35=14
(8) x =
4.6x = —37.72
(12) z =

—91x+75=-1.6

(16) z =

—3.1x = 3.3z — 41.6

(20) z =

—7.7Tx —1.15=5.82 +4.25



name

date

Batch 505956bf

Solve for x.
(1) z=

rz+11=20
(5) z =

11z =22

(9) z =

20 —1=-3
(13) z =

8qr=Tx+3
17) x=

doe —8=3x—15

Solving Linear Equations

(2) z= (3) =
z—5=-9 l=x+4
(6) z = (7) x =
T _ —6 =22
="
(10) z = (1) z =
z 62=—-1+7x
= -1
10+8
(14) z = (15) o =
dr = —Tx + 88 —4x = 2z + 30
(18) x = (19) z =

—2x+4+ 6 =—5x+ 18 —5r —5=3x+51

Version 9
(4) z =
r—16=-18
(8) z =
—1.7c = —-1.7
(12) z =

6.8z 4+ 0.6 = 21.68

(16) z =

8.8x = 0.4z 4 63.84

(20) z =

4o — 5.57 = 3.22 — 2.05



name

Batch 505956bf

Solve for x.
(1) z=
z+10=2
(5) z =
11x = —88
(9) z =
6xr —4=—46
(13) z =
4dr=3x—6
17) x=

120 —5 =11z + 3

Solving Linear Equations

(2) z =
r—8=-14
(6) x =
R
12
(10) z =
x
——7=-1
9
(14) z =
22 = -8z — 170
(18) z =

20 — 8 = —-3x — 23

date

T=x+2

—27 =92

(1) z =

—-9=9—-6x

(15) z =

4 =Tx—9

(19) x =

6xr—9=9x+3

Version 10
(4) z =
r—41=1.6
(8) z =
52x = 2.6
(12) z =

—7.8x+1.9=-37.88

(16) x =

5.6z = —0.82 — 32

(20) z =

0.6x —3.47 = 1.1x — 8.17



name

date

Batch 505956bf

Solve for x.
(1) z=
r+7=8
(5) z =
S5x = —15
(9) z =
4r+9=-23
(13) z =
3r=2x—1
17 xz=

11z —9=10z -1

Solving Linear Equations

(2) z =

z—7=0
(6) « =

x

E_G
(10) z =

T 1=y

3
(14) z =

3z =—-8z—99

(18) z =

6x +2=2x— 30

(1) z =

10=4+22

(15) z =

—Tx =bx+ 72

(19) x =

2x +8 = bx + 26

Version 11

(8) x =

7.6 =114

(12) z =

—9.82 — 9.9 =75.36

(16) z =

—5.92 = —1.8z — 15.99

(20) z =

7.2x +2.23 = 1.22 + 10.03



name

date

Batch 505956bf

Solve for x.

(1) z=

r+4=0

(5) z =

12z = —108

(9) z =

3z +3 =30

(13) z =

11z =102 — 5

17) x=

drx+2=3x—-4

Solving Linear Equations

(2) z =
z—11=-10
(6) = =
x
Z—_9
8
(10) z =
x
5—&-8——2
(14) z =
3r = —8x — 22
(18) z =

6z + 3 = 2z + 27

(1) z =

28 = —4 +4x

(15) z =

—8xr = —4x — 24

(19) x =

6r—2=8xr+2

Version 12
(4) z =
r—1.7=-3
(8) z =
9r = —25.2
(12) z =

6.6x + 4.3 = 44.56

(16) z =

5.6 = 9.9z — 20.64

(20) z =

3.2 +7.64 = —-09z — 11.22



name

Batch 505956bf

Solve for x.

3r = —12

(9) z =

11z — 8 = —107

(13) z =
Sx =4x + 4
17z =
Sr—1=4xr—3

Solving Linear Equations

(2) z =
r—2=-11
(6) x =
x
T0_7
(10) z =
x
——6=1
9
(14) z =
—6z = —8xr — 14
(18) z =

Tr—6=—7r—104

date

(3) z=
6=x+5
(7) z =
10 = =5z
(1) z =
—46 = —6 + 5
(15) z =
—Tx=-3x+8
(19) x =

—8x 4+ 5 =4z — 31

Version 13

1.5 =6.6

(12) z =

49rx+64=-7.81

(16) z =

—5z = 9.82 + 59.2

(20) z =

—74x +5.17= -83z —1.31



name

Batch 505956bf

Solve for x.

1)z =

r+8=14

9xr =18

(9) z =

6z + 8 = 20

(13) z =

6r =5xr—5

17 xz=

11z +7=10x + 10

Solving Linear Equations

(2) z =

r—3=-1
(6) x =

52—8

(10) z =

g+1=—1
(14) z =

—6zr = -8z — 4
(18) z =

8r —5=—8x — 85

date

24 =3z

(1) z =

15=-9—-4zx

(15) z =

4o = 8x + 32

(19) x =

Tx+9=9x+3

Version 14

(8) x =

7.8x = 61.62

(12) z =

—3.8z 4+ 0.8 = 28.92

(16) z =

—9.8x = 2.22 4 94.8

(20) z =

0.7x +4.62 = —8x —44.1



name

date

Batch 505956bf

Solve for x.

1)z =

r+9=5

2 = —6

(13) z =

6x =5x+ 1

17 xz=

3r+3=2x—4

Solving Linear Equations

(2) 2=
r—1=3
(6) 2 =
x
ﬁ_7
(10) z =
x
Y=
1 2
(14) z =
6x = —4x + 70
(18) z =

6x + 5= —6x + 53

—24 =8z

(1) z =

0=6—-3x

(15) z =

—Tx=-3x+ 12

(19) x =

Tx—5=9x—5

Version 15
(4) z =
r—6.3=5.9
(8) z =
5.6x = 21.28
(12) z =

3.7 — 6.4 = —31.56

(16) z =

0.7 = —1.3x + 18.2

(20) z =

6.8z + 0.54 = 5.7x — 0.67



name

Batch 505956bf

Solve for x.

(1) z=

r+6=4

9z = —36

(13) z =

120 =11x + 1

17z =

8r+5=T7x+8

Solving Linear Equations

(2) z =
z—12=-20
(6) « =
Ty
6
(10) z =
x
—-——1=9
6
(14) z =
—ox = —Tx +2
(18) z =

—4r—1=-9x+4

date

(3) =
—4=x—-1
(7) z =
-8 =2«
(1) z =
23=—-1—4x
(15) z =
—br=Tr—24
(19) x =

Sr — 2 =8x — 26

Version 16
4) z =
r—8.8=18.1
(8) z =
7.2x = 23.76
(12) z =

3.8 — 2 =24.98

(16) x =

—6.7r = 6.92 — 43.52

(20) z =

9.6z — 0.36 = 9.5z + 24.21



date

name

Batch 505956bf SOIVIDg Llneal" EquathHS Version 17
Solve for x.
(1) z= (2) z = (3) z= (4) z =
r+1=-6 r—1=—-4 —7=x—-1 r——-35=-134
(5) z = (6) z = (7) z = (8) z =
4x = —36 T _g —16 = 4x —4.3x = 8.6
5=
(9) z = (10) z = (11) =z = (12) z =
6x+9=-21 T _7 —65 = -9+ Tx —0.87 — 2.6 = 3.08
2
(13) x = (14) z = (15) x = (16) z =
9r =8x — 6 dr = —4x — 8 20 = 6x 4+ 12 —0.1x = —9.7¢ — 54.72
17 xz= (18) z = (19) x = (20) z =

3t —3=2x—-6 —2r—-2=-8x—-2 -5 —-5=-3x—9 —0.6z—-6.64=—-13x—3.21



name

Batch 505956bf

Solve for x.

1)z =

z+8=10

6x = 54

(9) z =

r+7=31

(13) z =

8qr=Txr—9

17z =

S —5=4x -7

Solving Linear Equations

(2) z =

r—4=2
(6) x =

S|

5
(10) z =

- -2=3
(14) z =

22 = —9x — 33

(18) z =

—4r+7=-8x+3

date

3=x+1

(1) z =

—19=8+4 3z

(15) z =

—2x = 6x — 56

(19) x =

—4xr+ 3 =8x —81

Version 18
(4) z =
r—52=-4.1
(8) x =
—1.8¢2 = 6.84
(12) z =

—5.1x — 7.5 = —11.58

(16) z =

—3.4r = 2.4x — 49.88

(20) z =

9.2z — 2.36 = —7.5x + 64.95



date

name

Batch 505956bf SOIViDg Linear Equations Version 19
Solve for x.
(1) z= (2) z = 3)z= 4) z =
r+3=9 r—3=0 —-6=x-3 r—9.8=28.7
(5) z = (6) x = (7) z = (8) x =
120 = 72 Ty 0= —bx —6.2¢ = 36.58
10
(9) z = (10) z = (11) =z = (12) z =
10z — 9 = 41 T o 10 = -8+ 3 0.9z + 7.2 = 3.78
6
(13) z = (14) x = (15) z = (16) x =
8r=Tx+8 S5r = —T7x + 96 6xr =8x+ 18 —4.6x = 5.92 + 34.65
(17) z = (18) x = (19) z = (20) x =

6 —8 =5z — 10 —2r—-9=—-6z—-1 Tr+6=92r+4 6.1x — 7.14 = 2.6 — 16.94



date

name

Batch 505956bf SOIViDg Linear Equations Version 20
Solve for x.
(1) z= (2) z = 3)z= 4) z =
r+3=3 r—5h=-7 8=a+7 r—3.8=12.1
(5) z = (6) z = (7) z = (8) z =
6z =12 T _y —36 = 4x —0.52 = —3.95
6
(9) z = (10) z = (11) z = (12) z =
120 — 5 = -77 §+6:4 38=2—-9x —2.2x 4+ 0.8 =13.12
(13) z = (14) x = (15) z = (16) x =
3r=2x—3 20 = —3x — 35 -3z =5z — 16 0.8x = —3.1x + 15.99
17z = (18) z = (19) x = (20) z =

doe —8=3x—7 6x+8=4x+10 3xr+6=8x+ 36 —5xr — 0.36 = —9.52 — 21.51



name

Batch 505956bf

Solve for x.
(1) z=
r+2=-7
(5) z =
10z = 80
(9) z =
3r+3=24
(13) z =
dr=3x+8
17) x=

dr+6=3x+ 11

Solving Linear Equations

(10) z =

X
Z41=7
0"

(14) z =

brx = —9x + 70

(18) z =

—6r—6=-9r -9

date

O=z+6

(1) z =

40=4—-4x

(15) z =

Tr =9x + 16

(19) x =

Tx+3=9x—5

Version 21
(4) z =
r—1.8="77
(8) x =
—0.8x = —6.32
(12) z =

5.2x —4.9 = —-12.18

(16) z =

—x = —4.2x — 29.76

(20) z =

—6.92 — 8.21 = 9.6z 4 3.94



date

name

Batch 503956bt Solving Linear Equations Version 22
Solve for x.
(1) z= (2) z = 3)z= 4) z =

z+9=18 r—4=4 T=x4+7 r——42=55
(5) z = (6) x = (7) z = (8) x =

6z = —48 z 6 21 =Tz 6.8x = 63.92

1=

(9) z = (10) z = (11) z = (12) z =

Tr—2=5 Z+2:5 48=6—-Tx 3.6x 4 2.4 = 28.68
(13) z = (14) x = (15) z = (16) x =

122 =11z -8 —br = —9x — 18 —Tx =4z — 22 7.1z = 6x +8.25

(17) z = (18) x = (19) z = (20) x =

6z +7=05x+2 20 —6 = -6z — 70 20 —2=Tx -7 —4.6x +6.82 = —6.7x 4 1.57



name

Batch 505956bf

Solve for x.
(1) z=
r+3=9
(5) z =
120 = 24
(9) z =
12x +3 =111
(13) z =
9r =8x + 9
17 xz=

Tr—2=6x—1

Solving Linear Equations

(2) @
T—4=-5
(6) = =
x
S =7
6
(10) z =
x
Zt2=3
6+
(14) z =
9z = 5z — 12
(18) z =

—3r+2=-9x+ 26

date

40 = -8z

(1) z =

3=148z

(15) z =

—6x = bz + 55

(19) x =

3z + 5 =8x+40

Version 23

(4) z =
r——09=5.2

(8) x =
—9.6x = —72.96

(12) z =
—592x —4=0.72

(16) z =

8.7x = —8.1x — 132.72

(20) z =

71z +0.25 = —3.22z — 81.12



name

date

Batch 505956bf

Solve for x.
(1) z=
r+10=5
(5) z =
5r = —30
(9) z =
8r — 5= —53
(13) z =
8r =Tx — 8
17 x =

10x —4 =92 — 4

Solving Linear Equations

(2) z =
z—11=-16
(6) = =
Ty
3
(10) z =
x
T i9=-2
7-‘r
(14) z =
—br = —8x + 18
(18) z =

Tr+1=5x—-11

4=x4+7

12 =3z

(1) z =

—37=-1—-6x

(15) z =

Tr =9x — 2

(19) x =

—br —2=-3r+4

Version 24
(4) z =
r—25=-T7
(8) z =
5.5 = 48.95
(12) z =

-39 — 3.1 = —-15.97

(16) z =

—xr = —6.2x + 0.52

(20) z =

6.1x —4.19 = 4.82 — 11.08



name

Batch 505956bf

Solve for x.

1)z =

r+6=28

6 = —36

(13) z =

Tr =6 —1

17) x=

S +9=4r+4

Solving Linear Equations

(2) z =
z—6=-8
(6) « =
x
ﬁ——9
(10) z =
x
d —4
4+8
(14) z =
—3r = —5x — 12
(18) z =

9r —1=4x+ 29

date

(1) z =

65 =—-7—-8x

(15) z =

Tr =92+ 6

(19) x =

—4xr+4=06x+24

Version 25

(8) x =

—5.3z = 28.09

(12) z =

4z + 4.5 = —-16.7

(16) z =

4.3z =282 4+ 6.75

(20) z =

7.5 —1.9=—-72x—137.14



Solving Linear Equations

Batch 505956bf

Version 2
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